College Math

Quiz Review
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Simplify. Your answer should contain only positive exponents.
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Simplify.

28) \/108mn*p> 29) \144pg*r®
30) N 121%%k 31) \144xyz

32) 75023k 33) V96ab’c?
34) —3~/24x%%2 35) -6~ 15002

Write each expression in exponential form.

36) (V/3x)° 31 \p
38) (~/10n)" 39) /51

Write each expression in radical form.

7

40) (5x)* 41) p?

| =



42) k*

Simplify.

44y -37/12 +312 - 3+/24

46) 26 + 333 + 2412

48) 2/5 - —4/5

50) -v/5(4~/5 = 2~/3)

52) 3+/2(-/5 - /2)

54) (2+4~/5)(3+2+/5)

| =

43) (10n)*

45) 36 - 3312 - 2~/24

47) -N2 + 38 —2+/54

49) -~/3-2/5

51) -4~/5(-5~/10 + 5)

53) -2/15(2+/3 + 44/10)

55) (—2+/3 = 3)(2/3 - 5)



1) x*yz’
5) 16z*x*®
9) a2

2
13)

2.4
x*ytz?

1
xzyz
2 5
21 3m"pq”

17)

25) 16y"'2°

29) 12grN pqr
33) 4bcN 6abc

1
37) p*
41)

p
45) -6 —6~/3
49) -2~/15

53) -12~/5 - 406

Answers to Quiz Review

2) 2p7 3q2
6) 6)C3 3 2
10) 16¢*r

4
14) X2

y
3

18)

3p'q
22) 16x*zy"?

26) 24

5
p
30) 2hj~ 3hjk

34) -6y 62

W | A

38) (10n)
42) (&)’
46) 26 + 73

50) =20 +2~/15
54) 46 + 165

7) 16y
11) 9x2 24

15) L
P
19) 2y%3z*

23) 4096x%y*27
27) 8y6 12

31) 12N xyz
35) =30V o6xyz

1
39) (5n)°
43) V107

47) 572 - 676

51) 100v2 - 20~/5

55) 3+4/3

4) 2y5 3.4
8) m p16q16
12) m®p®
2
16) ——
) )cy3z4
5
20) 9r q

p’
24) 40966°a*8 '
28) 6np~N3m
32) ShiN3jk

36) (3x)

40) (\5x)'
44) -6\/6

48) 40

52) -3/10 - 6
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